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ez~ Write your Roll No. in space provided. Over-writing, Cutting, Using of lead pencil

will resultin loss of 1 rmrlu All questions are to be attempted.
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| Each question has four possible answers, Tick ( V ) the correct answer. (15)
' In the proportion 3:5:: x : 20, the value of x is; |

A | 20 B | 12 e | 5 D 3
959 = . |
"A | 95 8] N o5, odCl o085 Il oms
~Onacrop produced on artmmal sSources, Usher |5 deducted at a rate of; |
! R o et c g% © WPl BS540 |
Profit= | |
‘Al seecp |B| cp-sp [Cc| sP-CcP [D|  (SP)CP)
) ‘Sumufratin‘i:?:?;is: Lo .
A | ol A o| 8|
j | The person whose insurance is being dune IS cailed the; l
1A | Bonus i |E‘ Insured 'C | Drawer | Dyl Insurer fl

A machine installed by the bank to dispense r,ash to customer is called an;
Al Computer ‘ B | ATM C | Scanner D Cardr |

The tax which is charged on income, property and profit in the form of | mr
tax elc is called;

il @@Wm

log -1 C log Y /D | log ¥

w X | y 5.

Ifa, 2=3n-11, then 5" term is: |

A 4 8 7 e w0 ol 1

i | Geumetrtc mean between Eand 8 Is; B |
Al 2 8 8 ¢ 4 p| 16

b Lif U is the universal sef, then AN A" =

SIHEINIVIE N EY . WU |
; | .
\ | The coordinates of origin are;

Al (00 B (1,0 cj:'{a T
5 f all numbers in a set are added together and then the total is divided hy the number of ‘
scores in the set is called; ) |
A Weight of mean | B Mode C  Median ',Dl Mean ‘
(The End)



